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B—405—2019
FACULTY OF HUMANITIES
B.A. (Second Year) (Fourth Semester) (Backlog) EXAMINATION
OCTOBER/NOVEMBER, 2019
(Old Course)
ECONOMICS
Paper—VIII (Optional)
(Statistical Methods)
(MCQ + Theory)

(Monday, 25-11-2019) Time : 2.00 p.m. to 4.00 p.m.
Time— Two Hours Maximum Marks—40
N.B. .— (@) Attempt All questions.

(i1) All questions carry equal marks.
(@ii) Use of calculator is allowed.
(@) W& YA Hrean
(i) W& UEAA HH U R
(ii) TR ATIRUA YA 3T
MCQ)
1. Multiple choice questions : 10

[ =
dgHeldl A1 Mdlsdl

@) Who has framed the first index number in the world ?

(@)  France (b) Japan
(c) America (d) Italy
S HATAH HIOH S IR TR shenn ?
(@ (b) UM
(c) SRR (d) e
(@1) ~ Which of the following is a regression equation y on x ?
(@ y=a+ bx b) x=a + by
(c) a =x + by d y=x+y
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(@ y=a+ bx b) x=a + by
(c) a=x + by d) y=x+y

Which is one of the following ideal index number ?
(@)  Fisheries Index Number (b) Killyis Index Number
(c) Laspeyre’s Index Number (d) Pascheis Index Number

ETATcTUsh! hIvcAT Teh eyl faeere 3 ?

(@  TreEn fademes () foreeran fdemes

(c)  orEdeTEn facemeh (d) = e
Standard deviation tool as used by ................ first time.

(@)  Karl Pearson (b) Laspeyre

(c) Fisher (d) Killy

YHTOT I'\ol_q(,i'_l a0 ('i'>||'°” W WW .................... -q-F_ﬁ- EBF""

(@ e fosTEd (b) <TEHISR

©  Twr (d) Toreat

The current year price and base year quantity are shown by :
(@ P9y ) Py,

© Py, @) pyq

o] avten feudt oTfoT Hes awien S vl gIEE et ?
(@  pgy ®)  pog

©  pea; @) pyq

Calculate the coefficient of range from the following :
x = 200 210 250 240 260

(@) 460 () 0.13

() 60 (d) 0.53

@it Hifgdiaed foedr Uk 1@l .

x = 200 210 250 240 260

(@) 460 (®) 0.13

() 60 (d) 0.53
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(vii)

(viii)

(ix)

If Q, = 30 and Q; = 60, then find the quartile deviation :

(@ 15

(c) 30

R Q, = 30 M Q, = 60, W =g foraer Fal :

(@ 15
(c) 30
Solve :

(@)

(c) 1
redr
(@)

(e) 1
Solve :
(@) 13.6
(c) 9
e
(@) 13.6
(c) 9

( 3 )

(b) 0.33

d) 90

(b) 0.33

(d) 90

32
"= 64 16
(b) 16
d -1

32

"= 64 416
(b) 16
d -1

1702 (—18)2
SD. = J 53

(b) 20
(d) 702

1702 [—18]2
SD. = J 5 5

(b) 20
(d) 702
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(x) Solve :
654 531
Por = \778 “ 632 * 1%
(@) 84 ®) 75
(c) 100 (d) 05
Hrea
654 531
Por = \778 “ g3z * 10"
(@) 84 ®) 75
(c) 100 (d) 05
(Theory)
2. Calculate the coefficient of correlation from the following data : 10
X Y
30 22
32 25
34 27
35 28
37 29
38 30
40 31
42 32
44 33
TTelid Afed=a SR TgEad UMk el :
X Y
30 22
32 25
34 27
35 28
37 29
38 30
40 31
42 32
44 33
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3.

Explain the meaning and types of correlation coefficient.

Or
(fenam)

qeqaY TN 31 IFH TR TR A

Calculate Standard Deviation from the following data :

X
20—30
30—40
40—50
50—60
60—70
70—80
80—90

et Hifgdi=n AER J90 fa=ueq el

X
20—30
30—40
40—50
50—60
60—70
70—80
80—90

Or
(fenam)

Y

DN LW Ot & » W N
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10

Define Index Number. Explain methods of construction of Index Number.

fdemenT=l = 9rm. fAdseh dUR hvar=A Ugdl TS R
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Attempt the following questions (any two) :

() Calculate the Quartile Deviation from the following data :

B—405—2019

X Y
10 5
15 7
20 10
22 15
28 12
30 10
(i)  Calculate the Paasche’s Index Number :
Goods 1990 1999
Price Quantity Price Quantity
A 2 50 3 55
B 4 12 6 15
C 5 5 9 6
D 1 3 3 4
(ziz)  Importance of Index Number.
(v)  Range.
WATATeh! HIVAEl QM J=t S forar ¢
(i) i difediea sTaR aqefs fage @@ :
X Y
10 5
15 7
20 10
22 15
28 12
30 10
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Gi) e e @@

R 1990 1999
feraa e - —
A 2 50 3 75
B 4 12 6 15
C 5 9 2
D 1 3
(i) e "
(iv) fo=r.
B—405—2019 7
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